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BCA 1st Semester Exam., 2013

BASIC MATHEMATICS

Time : 3 hours Full Marks : 60

Instructions :

() The questions are of equal value.

(i) There are SEVEN questions in this paper.
(iti) Attempt FIVE questions in all.

(iv) Question Nos. 1 and 2 are compulsory.

1. Answer any six of the following questions as
directed :
(a) 1f sets A and B have n elements in common,

then how many elements do AxB and Bx A
have in common?

(b) If A={l 2, 3, 4}, then show that the relation
R={12),23),(3),(,4),4,2)} is not a
transitive relation on A.

(c) If the truth values of the statements pand g

be T and F respectively, then which of the
following propositions has the truth value 7'?

(@ pagq
(@) ~pvg
(iii) pa(~gvq)
(iv) p=gq
(Choose the correct one)
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(2)

{d) Which of the following is equivalent to the
negation of pvg?

@ -pvag
i) p=gq
(if) ~pna(-q)
() ~pv(-q
(Choose the correct one)

fe) If u=log(x® +y® +2° -3xyz), then which of
the following is the value of 934»1"14-3_” ?
dx dy 9z
3(x2 +g2 - zz)
X +y3 + 23 —-3xyz

i

(ii) 3(12 +y2 +z2 =3xyz)
x?+1y2 +2° - 3xyz

3
x+y+z

(it}

(iv)j None of the above
(Choose the correct one)

), When does the function f(x) =sin3x-3sinx
attain its maximum or minimum values

in {0,
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(3)

(9) If fX)=flat ), then [ f(x)dx is equal to
) [ ftadx
(i) nffxdx
(i) nf*" f(x)dx

fiv) None of the above
(Choose the correct one)

(h) Write down the formula for finding the area
bounded by the curve r = f(8) and two radii
vectors 86 =a and 8 =§.

(i Find the angle between the lines
3x+y-8=0and x+2y+2=0.

(i Find the centre and radius of the circle
x +92 -2x-6y-6=0.
2. Answer any three of the following :

fa) Prove that Ax(Bu C) = (A xB)u (A x C) where
A, B and C are three sets.

(b) If pis a statement, then show that ~ (pv - pj
is a contradiction.

fc) Find the radius of curvature at any point
{x, y) of the parabola yg = 4.

(d) Find the area bounded by the parabolas
x? =4y and yﬂ =4x.
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